2N s3I
HE: YRS I B (SYHLLM/5Y - 55)
S sPLHEIB A= (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=& 67,108,201 65,923, 366 1,184,835
= 6,516,219
Xl 49,232,000
= 11,359,982
2= MY S (sHN LA/ =Y - 5F) 14,244,962 9,969,962 4,275,000
= 2,996,366
Xl 8,233,000
< 3,015,596
sIYHIE = 11,298,000 7,706,000 3,592,000
= 1,710,000
Xl 8,233,000
= 1,355,000
s -s& 3L =22 ANHFA 134,000 140,000 A 6,000
201 et 10,000 10,000 0
01 At 22l 10,000 10,000 0
OZd=s&E AuAs 29I 10,000
202 Odl 69,000 69,000 0
01 = LH 4 Hi 20,000 20,000 0
OANMER L s F=tol 20,000
03 =L S 27,000 27,000 0
O=sZAM AP =& 27,000
04 =Xl =t H 22,000 22,000 0
O=Z A off 2 A= 22,000
203 R =&l 55,000 61,000 26,000
03 A ZXH S =AY 55,000 61,000 A 6,000
OSZMY M B2 AH ST 55,000
SENE SIS (M- RS HE - IH3 5,148,000 1,893,000 3,255,000
qere)(232)
Xl 5,148,000
403 MtXISHH S =0l & 5,148,000 1,893,000 3,255,000
Xl 5,148,000
01 X SHMA=2E X 5,148,000 1,893,000 3,255,000
Osdts Ma - 23II8 25 X& 1,445,000
X 1,445,000
O6xtatH st X2 2,582,000
Xl 2,582,000
OsdtE M= - IE2XHE 1,121,000
Xl 1,121,000
sENE SN (I1E - HIoH)(=2) 50,000 50,000 0
Xl 25,000
< 25,000
202 044l 10,000 0 10,000
Xl 5,000




2N
X ZH -
L= B

el

(0¥
2

0

S
1
4 J¢

>
OF
o
%
02
{>
x
OF
Q

0l oy off
9 o ox
Nz of &

rz 1R

W g

SA - BB B () - MM - BES Ol &t o San HmEET
< 5,000
01 = LH o4 1l 10,000 0 10,000
OsE4tgst I8 - 8Ot MAHR= 10,000
Xl 5,000
< 5,000
307 21201 A 40,000 50,000 210,000
Xl 20,000
= 20,000
02 It S AMHEL 40,000 50,000 10,000
Os=sE4tdst D= - 8Ot HAHR= 40,000
Xl 20,000
< 20,000
ANSGctel extare 2435 X2 (6Xargsr NfZz) 1,100,000 1,090,000 10,000
2 2 EiH)(=21)
= 560,000
< 540,000
307 21201 A 1,100,000 1,090,000 10,000
= 560,000
< 540,000
02 LAFAAFEX 1,100,000 1,090,000 10,000
O6xtatst NFE20H 29 L &It 1,100,000
= 560,000
< 540,000
ANSActel extared 243 X2 (6Xtarg st XI2EH)( 1,365,000 1,347,000 18,000
=1)
= 1,050,000
< 315,000
403 XIS E X201 & 1,365,000 1,347,000 18,000
= 1,050,000
< 315,000
01 X SHHAN2E = 1,365,000 1,347,000 18,000
Oextat st XA EH 1,365,000
= 1,050,000
< 315,000
SEAMYRHAYE (2 1) 3,060,000 3,143,000 A83,000
Xl 3,060,000
403 A X EHHSH20lA 3,060,000 3,133,000 A73,000
Xl 3,060,000
01 X EHHMA=2E X 3,060,000 3,133,000 A73,000
OELY SHAY 3,060,000
Xl 3,060,000
sEs=gdy 2435 XA 35,000 35,000 0
308 XXM SO A 35,000 0 35,000
01 IXNHHBNEES 35,000 0 35,000
OLEMTH RSIHE &= 35,000
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2N s8I
HE: YRS I B (SYHLLM/5Y - 55)
oelr MRSl S4 CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
sgoldg X3 35,000 0 35,000
308 XAHXIEHSOIA 35,000 0 35,000
01 AIXSHMENEX= 35,000 0 35,000
OAZEHR sgoEXJLAEH X 35,000
HESAAEAT (XS )(22) 60,000 0 60,000
= 60,000
308 XX G S0l & 60,000 0 60,000
= 60,000
01 AIKISHHENMNEXZ 60,000 0 60,000
OxYE oY & X (HHAHEIZ) 60,000
= 60,000
AXsHAMET DD QT X (=21D) 600,000 0 600,000
= 600,000
308 XAXIGHHM SOl & 600,000 0 600,000
= 600,000
08 I 20 HstE = 600,000 0 600,000
OFEESsSEAHMEDW QT2 K& 600,000
= 600,000
A== )Y Sz (seEllYad/sH - s2) 51,793,452 54,880,624 N3,087,172
= 3,519,853
Xl 40,999,000
= 7,274,599
=d sE 349 g435 990,510 1,333,510 A 343,000
= 232,910
Xl 150,000
= 607,600
s=aZ g5 4 217,000 237,000 A 20,000
202 044l 10,000 10,000 0
01 2L Y| 10,000 10,000 0
O=EZZ s ALEA 10,000
307 2iz2tol & 40,000 40,000 0
02 QI AAIE E X 40,000 40,000 0
OEs1E & =22 282 40,000
308 XAXIGHHM SO0l & 147,000 147,000 0
01 IXHHIMNEXS 147,000 147,000 0
OsZMEs2d02 MEgss 29 & 30,000
OsHE0Ie 45 & 117,000
403 XX SHHS K20 & 20,000 0 20,000
01 XIS A=Z2E X 20,000 0 20,000
OsZEHE ANMHEHIALE &= 20,000
HEgiseld e N (9z2s)(=21) 32,910 32,910 0




2N s8I
HE: YASERY HASHSYHY LM /5Y - &)
©el: =Y == Y B CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 32,910
308 XX G SO0l & 32,910 32,910 0
= 32,910
01 AIKISHHMEMNEXZ 32,910 32,910 0
SEMESL0IS S W 32,910
= 32,910
SEZESHEA LMY N (RXSHH)(ZD) 165,000 137,500 27,500
Xl 150,000
& 15,000
308 MXISHHMSOIA 165,000 137,500 27,500
N 150,000
& 15,000
01 IXHHIMNEEXTZ 165,000 137,500 27,500
SEZ2SHIIA EAE A& 165,000
Xl 150,000
o=t 15,000
HAsHE &35 =4 255,600 330, 100 A T4,500
308 XX SHHSOIH 255,600 280, 100 A 24,500
01 AIXSHMENEXZ 255,600 280, 100 A 24,500
OH=s #HE stz )Y 29 21,600
O#H=C HEXA 234,000
CAR s=8X XN (ZHE)(=2D) 200,000 200,000 0
= 100,000
=} 100,000
307 QI2t0| & 200,000 200,000 0
= 100,000
= 100,000
02 QI2tAMAIE E X 200,000 200,000 0
OEANQ s&=ERIX XN 200,000
= 100,000
& 100,000
SAB s=Z8X NI (AZ)(=2D) 120,000 396,000 A 276,000
= 100,000
== 20,000
308 AHXIEHSOIA 120,000 396,000 A 276,000
= 100,000
= 20,000
01 AIXSHMEMNEX= 120,000 396,000 A 276,000
OZANB sERX K& 120,000
= 100,000
& 20,000
sS=E22D|et &= 1,431,442 2,020,614 A B89,172
= 1,104,943
Xl 89,000
= 237,499




SN =ZD
B YASENY BA(STHLSM/5Y - 5E)
©He sS85 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
sE2ZZH 4 N (=220) 1,122,844 845,014 277,830
= 974,444
= 148,400
308 AXISHXSO0IH 1,122,844 845,014 277,830
2 974, 444
= 148,400
01 AXHNBMNEXTZ 1,122,844 845,014 277,830
O=ZMHES20E AIRE 2 817,100
= 682,700
& 134,400
OsZHMEs2d02 20t 70,744
= 70,744
OsH=E0E AHA & NS 45,000
= 45,000
OXNAHS s=2ZAAE 2= 84,000
= 70,000
= 14,000
OsEReEHH N3 57,000
= 57,000
OsE=sHM X3 49,000
= 49,000
SEZPEN |L N (2E2)(2D) 5,000 5,000 0
= 5,000
307 212t0| & 5,000 5,000 0
= 5,000
02 I2HH AALH B X 5,000 5,000 0
OsEMEFA0E BE2YH XN& 5,000
= 5,000
SE2ZFN &4 N (E -S9)(=21) 160,000 0 160,000
= 80,000
= 80,000
308 AXISHXSO0IH 160,000 0 160,000
= 80,000
= 80,000
10 ST 2SO USE AN AN I 160,000 0 160,000
OsZ&E&Z =20 WsE - 9 AHlA 160,000
= 80,000
& 80,000
SENAESS MR (HE - 22)(=2D) 89,000 1,170,600 A 1,081,600
Xl 89,000
403 XX S S K201 A 89,000 1,170,600 A 1,081,600
Xl 89,000
01 MXHHNE2E = 89,000 1,170,600 A 1,081,600
Os=X2 SsHAtde X (ME - 22) 89,000
Xl 89,000




2N s3I
HE: YASERY HASHSYHY LM /5Y - &)
SR SEBIIY 25 (29l 8)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
FHBEANZ(2D) 54,508 0 54,598
= 45,499
< 9,099
308 AHAIEHHSOIA 54,598 0 54,598
= 45,499
< 9,099
01 HIXNHHNBHELS 54,598 0 54,598
OZ&ABHAF= 54,598
= 45,499
< 9,099
sEXNS e 49,371,500 51,526,500 A 2,155,000
= 2,182,000
Xl 40,760,000
< 6,429,500
OS2I e MsHEAHE2s f=0t2 2XEI XA 1,200,000 1,800,000 A 600,000
403 MtXSHHSA=0l& 1,200,000 1,800,000 A 600,000
01 HXSHMA=2E X 1,200,000 1,800,000 A 600,000
20t2 2 I XN (159 dF) 1,200,000
e MsZ 0SS0l 5,113,000 3,590,000 1,523,000
201 Let24E] 23,000 25,000 A 2,000
01 At 22l 15,000 15,000 0
Oz 29 & =0t Al 15,000
03 A2 Z Hl 8,000 10,000 A 2,000
obtseld H&3 8,000
202 044l 15,000 15,000 0
01 = LH o4 1l 15,000 15,000 0
OJ1g88s MsZE IS2s) =& 15,000
307 21201 A 25,000 30,000 25,000
02 QB AAHE X 25,000 30,000 A5,000
ootdoIs 29 25,000
403 MtXSHHS A= 0l& 5,050,000 3,520,000 1,530,000
01 XM A=2E X 5,050,000 3,520,000 1,530,000
OJIZgE MsZE Ot 2SI 5,050,000
sEXNGNYE 29 10,000 0 10,000
201 L2l 10,000 0 10,000
01 At 22l 10,000 0 10,000
O=sZXNYNMEAMY U2 2Y 10,000
& SEZZHE AMEAL(EH)(Z1) 393,400 0 393,400
= 393,400
308 MtXIEHSOIH 393,400 0 393,400
= 393,400




2N
X ZH -
L= B

el

X-Ijl.

= U

ASENY HAS (SPHL /5 - 5&)
Ey= )=l

[— -/ =2

SA - BB B () - MM - BES Ol &t o San HmEET

01 HIXNHHNBHNEES 393,400 0 393,400
OE)E sELZHE AlHAY 393,400
= 393,400

EO& SETZ2HE ABHAY(XIE)(=1) 1,573,600 0 1,573,600
= 1,573,600

403 MtXISHHE X201 & 1,573,600 0 1,573,600
= 1,573,600

01 XM A2 X 1,573,600 0 1,573,600
O8It s EZZHE AlHAS 1,573,600
= 1,573,600

SEdENdNL(sEMENS)(=21) 210,000 210,000 0
Xl 210,000

403 A X EHHS 20l A 210,000 210,000 0
Xl 210,000

01 X HHMA=LE L 210,000 210,000 0
o=M sEXNE0S =24 210,000
Xl 210,000

SESHUNELH(HEXR)(=Z2) 1,721,000 840,000 881,000
X 1,721,000

403 Ut SHHSA=0l& 1,721,000 840,000 881,000
Xl 1,721,000

01 XM A2E X 1,721,000 840,000 881,000
OsZSaXNELd3 (4R F) 1,721,000
Xl 1,721,000

sETMNELsH (L XR)(=Z2) 23,988,000 24,853,000 A 865,000
Xl 23,988,000

403 MtXISHHE X201 & 23,988,000 24,853,000 A 865,000
Xl 23,988,000

01 AXSHMA=2EE 23,988,000 24,853,000 A 865,000
O=sESAXN L (LBRF) 23,988,000
Xl 23,988,000

HACULASEMNL (OISHEASHASE L) (=2) 4,123,000 10,521,000 A 6,398,000
Xl 4,123,000

403 X SH S X =0l H 4,123,000 10,521,000 6,398,000
Xl 4,123,000

01 X SHHA2E= 4,123,000 10,521,000 A 6,398,000
OsE=zMNEH3 (IS8 ASSHY) 4,123,000
Xl 4,123,000

A TENL(ALAHATENL)(21) 3,974,000 2,218,000 1,756,000
X 3,974,000

403 MHXSHHSA=0l& 3,974,000 2,218,000 1,756,000
X 3,974,000

01 HXSHMA=E X 3,974,000 2,218,000 1,756,000




FN: s3I
e

B YASENY BA(STHLSM/5Y - 5E)
Sel sEX Y Y EEREED
SA - BB B () - MM - BES Ol &t o San HmEET

OFXZHOISUSI (HALASEMNY) 3,974,000
Xl 3,974,000

OGISHASENL (2 D-54ER) 925,000 162,000 763,000
Xl 925,000

403 MtXISHHE X201 E 925,000 162,000 763,000
Xl 925,000

01 XM A2 X 925,000 162,000 763,000
OFZXOISAUSII(MISHASE ML) 925,000
Xl 925,000

DSHAZsRA=N(ZD-s482) 1,321,000 834,000 487,000
Xl 1,321,000

403 A X EHS =0l A 1,321,000 834,000 487,000
Xl 1,321,000

01 X HHMA=E L 1,321,000 834,000 487,000
OXZXOISAUSII(MSHAB S 2 =1X) 1,321,000
Xl 1,321,000

OESHAZ M (MELS)(ZR-54ER) 523,000 676,000 A 153,000
X 523,000

403 UHXSHHSA=0l& 523,000 676,000 A 153,000
X 523,000

01 HXSHMA2E X 523,000 676,000 A 153,000
OFZHOISUSI (OISHAZHAMEALS) 523,000
Xl 523,000

DS ASZ (N (T L-s4ER) 1,881,000 1,210,000 671,000
Xl 1,881,000

403 MtXISHHE X201 & 1,881,000 1,210,000 671,000
Xl 1,881,000

01 XM A=2EE 1,881,000 1,210,000 671,000
OFZFOISAUSII(OISCAZ M) 1,881,000
X 1,881,000

ANzgz2s(20) 714,000 525,000 189,000
Xl 714,000

403 XIS E X201 & 714,000 525,000 189,000
Xl 714,000

01 X EHHM A= LE L 714,000 525,000 189,000
oAz 3at 714,000
Xl 714,000

ANZZO(AIZE9)(=1) 973,000 3,534,000 A 2,561,000
X 973,000

403 UHXSHHSA=0l& 973,000 3,534,000 A 2,561,000
X 973,000

01 HXSHMA=E X 973,000 3,534,000 A 2,561,000
OANZEANZE) 973,000




M s3I
B YASENY BA(STHLSM/5Y - 5E)
Chel sEXY e (&)
SA - BB B () - MM - BES Ol &t o San HmEET
| Al 973,000
ANZEA(HFZXIGAE)(21) 407,000 232,000 175,000
Xl 407,000
403 UHXISHHSA=0l& 407,000 232,000 175,000
X 407,000
01 HXESHHMA=E X 407,000 232,000 175,000
OANZEHO(ZZRSALY) 407,000
X 407,000
FOUFE 0IS22E) NA(sESEHTELY)(21) 201,500 201,500 0
= 155,000
< 46,500
308 XXM SO0l A 201,500 201,500 0
= 155,000
< 46,500
01 IXNHHBNEES 201,500 201,500 0
OFUFCOISUEINA(SESHEZY) 201,500
= 155,000
< 46,500
FUFE 0IS2S)| N (sE2LSNJEH) (=2 120,000 120,000 0
)
= 60,000
< 60,000
307 glz2tol & 120,000 120,000 0
= 60,000
< 60,000
02 IZtE M AHEE 120,000 120,000 0
OFUFZNSUSIXNA(sEE2LESNIAEH) 120,000
= 60,000
< 60,000
HE2AZH (sF ) (JIEH/IIE) 69,787 72,780 22,993
Jl=3l 69,787 72,780 A 2,993
2EM29 JI2Z 4l 69,787 72,780 A2,993
201 L2l 46,987 49,980 A2,993
01 At 22l 36,987 39,980 A 2,993
ORAN2Y AR 22l 36,987
02 =24l 10,000 10,000 0
OFAM(Z Mg S=HIR)2ES 10,000
202 o4dl 12,600 12,600 0
01 = LH o4 1l 12,600 12,600 0
SAES U0l 12,600
203 YR =2t 10,200 10,200 0
01 I 22g =8 6,000 6,000 0
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